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—— > Consequences A
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—— > Consequences B
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PM:

hether our choices are efficient

ng used in a way that maximises good health?
bur choices in a transparent, systematic way
ite to others that resources are being used well

e Lonwon
([;Qf HYGIENE
W @LSHTM_TB tbcentre MEDICINE




ges of an economic evaluation

R question

antifying and valuing the resources required (costs)
antifying and valuing the outcomes required (utilities)
enting and interpreting the evidence for decision making

o LONDON ooy

682 th.Ishtm.ac.uk W @LSHTM_TB tbcentre MEDICINE




ges of an economic evaluation

2 question

antifying and valuing the resources required (costs)
antifying and valuing the outcomes required (utilities)
enting and interpreting the evidence for decision making

S, SORReN Mg

z ¢) =\
(f ﬁ /" HYGIENE & 1S
: =% STROPICAL

W @LSHTM_TB tbcentre MEDICINE




isons
Against do nothing
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natient/societal costs important?
dsource use between intervention and alternatives?

ean by provider?
ces/systems
plications
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econd dose of measles vaccination to the U5
schedule. Of course there isn’t enough money to do both
sound worthwhile...
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)act of health problems Resources needed for intervention
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)act of health problems

> with a risk factor

by spent on a health
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Resources needed for intervention

e Personnel

e Buildings/space

* Equipment

e Supplies & pharmaceuticals
* Transportation

* Training

Social mobilisation and
communication
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ges of an economic evaluation

R question

uantifying and valuing the resources required (costs)
antifying and valuing the outcomes required (utilities)
enting and interpreting the evidence for decision making
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sifying costs

irect

Recurrent/Variable
e Staff / Personnel, Supplies, Utilities,
Admin, Travel, Other operating cost

apital/Fixed
Buildings, Equipment, Vehicles,
Furniture, Once-off training

Programme

q“J‘"V
L et

"q:'; *  Medical (consultations, hospital, admission,
o drugs)
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a e Travel
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Indirect

Community wide
loss of production

* Waiting time
* Pain

¢ |[[Iness related absenteeism
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-q-‘ ting the costs - Q

ing slide shows an image from a lab

ems in the picture should be added up and valued to
t per test?

irces are not in the picture but are still necessary to deliver
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ges of an economic evaluation

R question

antifying and valuing the resources required (costs)
antifying and valuing the outcomes required (utilities)
enting and interpreting the evidence for decision making
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the only school teacher in the village?
3 mortality

bf years she has lost from premature death

er wages her family has lost

he loss of her wages on her children’s schooling — school fees can no
yrded

ering to her husband and children
nvestment her parents made toward her education
2 school system which now has to hire and train a replacement
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derived through direct elicitation or indirectly from general
veys (e.g. EQ-5D) and then applied to different conditions

2nds life by 10 years in perfect health:
QALYs=10*1=10

ends life by 10 years in a state with 0.5 utility
QALYs=10*0.5=5

ey LONIDON T 2

Eea) th.Ishtm.ac.uk W) @LSHTM_TB tbcentre MEDICINEG




e year the lives of 200 people, or extend the lives of 1000 people with
g confined to bed?

e

0 100
are you feeling today? | | I —X%—
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The EQ-5D descrptive system should be scored as follows:

A

By placing & tick in one box in each group, please indicate which

statements best describe your health woday .

Mobility

I hawe oo problems in walking about

I hawe some problems in walking aboaz

I am confined to bed

Self-Care

I have no problems with selrare

I hawe some problems washing or dressing myysalf

I am unable to wash or dress nryself

Usmal Activities (e.g work, srudy, honsework, family or
Taisure aciiiies )

I have no problems with performing nry nsual activides
I have some problems with performing my usuwal actvities
I arn umable to perform my wsual activities
Fain/Discomfort

I hawe no pain or discomfort

I hawe moderate pain or discomfort

I hawe extreme pain o discomfort
Anmiety/Depressiomn

I amn mot anxions or depressed

I am moderately anxious or depressed

I am extremely anxions or depressed

odp dpo 00 00K o0&

This example identifies the state 11232,

Levels of perceived
problems are coded

as follows:

o

O
n

O
g
O

.
.
v ¢

Level 1
is coded
asa’'l’

Level 2
is coded
asa’'?

Level 3
is coded
asa’'y

NB: There should be

only one response
for each dimension.
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ears of life lost due to premature mortality (YLLs) and years of
0 time lived in health states less than ideal health/disability

sure of the health gap between actual health and a
r health achievement

1d’ and health interventions should aim to avoid them
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100% of life
(no health problems)
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Disease d with
weight dw that
last for t years
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DALYS=N*dw * t
YLL=0 so far

t years
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DALYS=I*dw * t
YLL=0 so far

t years

Early death at 45
years
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DALYS=(I*dw*t)+(N* (61-45))

Early death at 45
EETES

50 LONDON I »
55 60 61 SCHOOLo MR
o e o NI (ot

20
@ tb.Ishtm.ac.uk W @LSHTM_TB tbcentre MEDICINE

15 25 30 35 40 45




DALYS=(I*dw*t)+(N* (61-45))

QALYs

Early death at 45
years
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ges of an economic evaluation

R question

antifying and valuing the resources required (costs)
antifying and valuing the outcomes required (utilities)
senting and interpreting the evidence for decision making
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el choice

gle study

ts measured as part of trial — all costs and effects fall on the participants of the trial within
of the trial

period
dels to project long-term costs and effects

ations and time period
on models

stems models

s comprehensiveness
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-effectiveness ratios

effectiveness ratio (ACER)

tervention A/Total impact of intervention A
tervention B/Total impact of intervention B

st effectiveness ratio (ICER)

tervention A — Total cost of intervention B)/

of intervention A — Total impact of intervention B)
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A

NO ?
New treatment New treatment
less effective @ more effective

?? YES

A

\4
New treatment -
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n S3000 per DALY

$2,000 per DALY
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es and alternatives

or reflective of budget constraint

erved

nder a budget constraint

Dice sets or optimisation
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ist in improving clarity from complexity

ing parts and data scarcity, so important to be clear about
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